
 
 

RCS 540 Radiator Coolant Exchanger

1001

1001
3020

4022

4023

6075

6073

4009

6013

6028
6074

6072

6015
6027

3023

1000

3025

4030

4031

2015

2003

2016

4009

2017

6036

6036 Bulk Head 6/RCS

2.2

1003

 
 
 
 

7016 
Complete  
Assembly 

7016-1 
Complete 
Assembly 



 

6079 6079 60804032 4033 40014035

6081

1021
3026

40366078
6077

60026011

6011 crimp for all 4011
(3/8 poly spring)

6012 6001

6012 crimp for 4007 
(3/8 Black Push) 

6001

6076

30223021

4034

6001

2000

2001

3027

3024

1004

1003

2.3

 



 
 

6025

4020
6003

6070

6034

6022 6084 4036

2.4

4007

4011

6071

 



 

4035
Filters

40334032

6080

6079

90
2 Way

60 psi
Guage

30 psi
Guage

4001   Air
Regulator

Muffler
4034

6093

3021
New Tank

3022 
Used Tank

4022
Air Filter

4030 Used Black

4031 New Red

4009

4020
6025

4036

4036

RCS 540
Plumbing

2.5

180
3 way

6079

4036

180
3 way

 



 

RCS 540 Radiator Coolant Exchanger       2.1 
Fasteners     Fittings     

1000 Quadrex Screws for body assembly    6001 3/8" Hose Barb 1/4" Female Thread   

1001 Lock Nut with Nylon Insert    6002 3/8" Hose Barb 1/4" Pipe Thread in a 90°   

1003 Caster Nut    6003 3/8" Hose Barb 3/8" Pipe Thread in a 90°   

1004 5/16 Caster Bolt    6011 One Sided Crimp   

1021 Nuts and Machine Screw to hold Bracket to Hold Inline Filter    6013 1/2" One Sided Crimp   

     6015  One Sided Crimp   

Hardware     6022 1/4" Brass Reducer to 1/8" Male Pipe Thread   

2000 Solid Caster    6025 Flow Direction Spring Loaded Check Valve   

2001 Swivel Caster    6027 1/2" Hose Barb 3/8" Pipe Thread in a 90°   

2003 Pull Handle Plastic    6028 3/8" Ball Valve w/ Red Handle    

2015 Fill Cap Plastic    6034 3/8" Male Tee Nylon   

2016 Decal Package    6036 1/2" Bulk Head   

2017 8" Drip Tube PVC     6070 3/8" Hose Barb 1/4" Pipe Thread   

     6071 3/8" Hose Barb 1/8" Pipe Thread in a 90°   

Metal Body Parts    6072 3/8" Female Quick Connect   

3020 Metal Body Panels    6072-1 3/8” Male Quick Connect   

3021 New Metal Tank    6073 1/2" Hose Barb 3/8" Male Pipe Thread   

3022 Used Metal Tanks    6074 3/8" Male Pipe Thread Union   

3023 Fitting Pocket Box    6075 1/2" Nylon Hose Mender   

3024 Metal Base    6076 3/8" Hose Barb 1/4" Male Pipe Thread    

3025 Hose Hanger bolt attachment style     6077 1/4" Male Pipe Thread Union in a 90°   

3026 Steel Bracket to hold Inline Filter 4036    6078 1/4" Nylon Street Tee   

3027 Shelf for used and New Fluid tanks    6079 1/4" 3 Way 180° Ball Valve Panel Mount   

     6080 1/4" 2 Way 90° Ball Valve Panel Mount   

Plumbing     6081 3/8" Nylon Hose Barb 1/4" Female Pipe Thread 90°   

4001 0-25 psi Air Regulator    6084 1/4" Male Branch Tee   

4007 3/8" push on hose Black                                                per ft    Assembled Parts    

4009 1/2" id kuri tech polyurethane tubing                             per ft    7008 1 3/4" Straight Hose   

4011 3/8” id Poly Spring Hose                                                per ft    7008-90 1 3/4" 90 degree hose   

4020 Vacuum Pump    7009 1 1/2" Straight Hose   

4022 Air Filter    7009-90 1 1/2" 90 degree hose   

4023 Air Filter Glass Bowl Only    7010 1 1/4" Straight Hose   

4030 1/2 Red Push On Hose    7010-90 1 1/2" 90 degree hose   

4031 1/2 Black Push On Hose    7011 RCS 2 gear clamps                                              set   

4032 2" 30 psi Gauge    7012 1/2" and 3/8" Clear Hose Adapter   

4033 2" 30 psi Pressure Vacuum    7013 1/RCS 540 - 5 step loop hose   

4034 1/4" Metal Muffler    7014 2/RCS 530E - 5 Step with Male quick connect      ea   

4035 1/4" Inline Filter    7015 Cone adapter set   

4036 20 lb Pressure Release Valve    7016 RCS Black Exchange Hose Assembled (4031)   

     7016-1 RCS Red Exchange Hose Assembled (4030)   


